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104312580000927 | B8l | BmBIFEE5TRE | 01 | BARE | BR%¥E | £8F
104312580000965 | X+ | BmBFEE5TRE | 01 | BARE | BR%¥E | £8F
104312580000932 | &*# | BmBFEE5TIRE | 01 | AR | BR%¥E | £8F
104312580000937 | F+iF | BMBIFEE5TRE | 02 | REIE | BR%FE | £HH
104312580000916 | D+ | MBI 5TRE | 01 | BARE | BRR%¥E | £8F
104312580000975 | FE+ | BmBIFES5IE | 04 meE BmER | 287
104312580000920 | X+ | BHBFEETR | 01 | B&BE | BRFEN | €84
104312580000934 | &+ | B&BFE5IRE| 01 | BRB%E | 8RFEH | £8EF
104312580000935 | Z+ | BEBFEE5TIRE| 02 | BIRE | 8RFEH | ©8E
104312580000928 | [N, | R\MBAIZEEIR | 01 | REBE | RAFE | £HH
104312580000919 | X|x | BEBFEE5TIRE| 01 | BRBE | 8RFEH | £8EF
104312580000964 | K¢k | BmMBFEE5TRE | 01 | BARE | BR%¥E | £8H
104312580000953 | R+#ft | R&BFEE5TIRE | 02 | BBIRE | 8RFN | £8H
104312580000938 B EmBEETRE | 02 | RBLE | ®R%RFM | £HH
104312580000924 | %+#% | RMBIEE5IR | 01 | BRB% | 8RFH | £HE
104312580000949 | =+E | RMBEE5IR| 04 | BREFR | BRFH | £HE
104312580000968 | v+ | BMBIFEE5TRE | 01 | BARE | BR%FEH | £HH
104312580000947 | &+ | REPIESIRE | 04 mE BmFER | 28
104312580000930 | #A | BRAIEE5TIR | 01 | BRBE | 8RFEH | £8F
104312580000978 | Z+i§ | B@AIEE5IR | 01 | BRBE | 8RFEH | £8F
104312580000962 | X|x | BEBIFE5TIR| 01 | BRBE | 8RFEH | £8EF
104312580000946 | F* | REBEEIR| 04 | RRE BmER | 28
104312580000979 | X+¥% | B@AIEE5IRE | 01 | BRBE | 8RFEH | €8
104312580001025 | 33 BEmIE 00 | AX% | RWM¥FE | £8H
104312580001002 | E+Hf BEmIfE 00 | AX9 | BREFE | &£HH
104312580001014 | &*F+ BEmIE 00 | AX% | RWM¥FE | £BH
104312580000986 | % EmIE 00 | AX9 | BRFE | £8H
104312580001018 | BRIk BEmIfE 00 | X4 | BRmEE | £HH
104312580001007 | /=@ RmIfE 00 | AX9 | BREFE | &£HH
104312580000989 | k81 TmIfE 00 | AR5 | &% | £HE
104312580001034 | =+ TmIfE 00 | AR5 | &% | £HE
104312580001022 | AH*=F TmIfE 00 | AR5 | &% | £HE
104312580000994 | FE+f§ TmIfE 00 | AR5 | &% | £HE
104312580000999 | Xk BmIfE 00 | AR5 | &% | £HE
104312580000993 |  F+ TmIfE 00 | AR5 | &% | £HE
104312580001017 | Z=+x= RmIfE 00 | AKX | BEREFE | £HH
104312580001020 | 4= BmIfE 00 | AKX | BEREFE | £HH
104312580001036 | Z=xK RmIfE 00 | AKX | BEREFE | £HH
104312580001035 | F+5A RmIfE 00 | AKX | BEREFE | £HH




